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1 Bl KH BEHETF v 13 3/ 7 2:36.74 10#% ( 0.68)
35.96 1:15.66 1:55.82
2 IEHZ = BEH B ILF ¥ H13 3/ 1 2:39.48 9%k ( 0.79)
36.22 1:16.34 1:57.55
3 M FYAS L ZIES S 12 2/ 4 2:48.48 8f% ( 0.68)
37.37 1:19.71 2:03.84
4 &1 BEHFY T H12 2/ 3 2:52.47 8% ( 0.83)
38.86 1:22.09 2:07.21
5 filRHH  FE(E A-1SS 19 2/ 7 2:53.85 7% ( 0.66)
40.10 1:24.59 2:09.17
6 e £ ) — AN 3 2/ 2 2:54.34 T#%  (0.77)
39.03 1:23.55 2:08.69
7T KR AL B I GHE 2 1/ 4 2:56.55 7#%  ( 0.69)
39.88 1:25.18 2:11.12
8 AR HEIE e T v 12 1/5 3:09.70 5#% ( 0.88)
40.95 1:28.54 2:18.66
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34.68 1:14.46 1:54.10
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35.94 1:15.59 1:55.60
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35.25 1:15.01 1:56.45
6 oA JEfE A4S S 13 3/9 2:40.10 9% (0.71)
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36.70 1:17.29 1:58.91
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